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This model shows the stock prices impllies by 70% and 52% ROICs.
1. First step is determining the NOPAT implied by the different ROICs.
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Next step is valuing the business based on the implied NOPAT, which is the Economic Book Value (EBV) per Share.
Details on the EBV calculation are on the next page.
Definition of Economic Book Value: http://bit.ly/XDtALT
My full report on AAPL: http://bit.ly/16xWRMX
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This part of my model shows the values behind my Economic Book Value calculation.
1. NOPAT/WACC is the first calc
2. Then, add/subtract debt, cash, options and tax liabilities, the values for which are provided below.
Economic Book Value (EBV) is divided by total basic shares to get EBV per share.


